


[ 2 35 #

|
TS

?

]

EFATHAB KRB LT EBLEMN 2

VR
mEL YRR L
1AL AT R BBEE R G E P RBEYRIR
X ¢ 118.409778
1 A2 & 1R(TWD97) | #T# ki
Y : 24.431878
e 1487.92m’
B o
B2E 1 4 =\
L1 . B3R 15
2. #7150
R EFEMBEL KB 150
4. 2 EHEEMRSFEIE 150
b 2 it A A b Rt 1 AR |50
6. £ kA E &7 FFEE1E 10




PR EFGToR) 3,100 8
BEE2IGETSW) [3,100 8
A ETEGTSE) 2,979 F 9,037 ~ (R £ 4)108.

2,979 & 9,037 = (% -

2,975 § 2,967 ~ (5 =

T % {)108.6.25

\\

= % {)108.11.12

EREFGETSW) | 728 8,000 ~

%R ¥ FF a9

R1pd 108 6" 1P

=1 pHp 108 # 11 * 22 p

FIWI1ER BRI (e =)

BAF R | &

44 xﬁ'—'{:}?‘ﬁ*’gfr{ - ;iiij:ﬂ%%ﬂﬁw TRORHRG P RLEIHLR
)

1 PRy % 4-1(12)

(1RY it it 4-2(12)







